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AR %Et | A%t | cB&EEt | 7TREEt | 8A&EEt | oRA&KE |10AKEH| 11 A&t | 12A %5t 1B&EEt | 2A%Et | 3B &EET A&t
REENE 717,320 887,490 88,600 | 1,268,660 | 1,063,890 175,740 | 1,115,780 | 1,401,460 499,920 526,180 764,050 880,900 9,389,990
BEEENE 5,460 6,620 252,320 1,520 4,650 199,200 2,240 0 62,570 98,020 102,980 76,390 811,970
SEEEN=E 226,410 330,970 13,770 598,330 434,660 37,220 513,630 751,170 109,280 197,420 348,260 406,220 3,967,340
XEBENBLT—
ﬁﬁ?%&%ﬁ%ﬁ%w 2,391 2,958 295 4,229 3,546 586 3,719 4,672 1,666 1,754 2,547 2,936 31,300
"
15REU25%
BiE [A%)(8) 5 13 0 26 17 0 19 30 1 5 12 17 145
15&X([F25%
BEB[AZ](B) 25 18 7 5 14 10 12 0 24 20 7 7 149
X HEX=%REEHE-—BREATHFER=
RN BEEESBRUGERENET 57 (SHSEE)
1,600,000
FEEHN 1,400,000
=
1,200,000
- 1,000,000
BEEN
= 800,000
600,000
STEEN 400,000
=
200,000
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